What’s the best payment?

1. Would you prefer $10,000 paid to you in ten years, or $1000 in each of the next nine years?

Explain your answer to your partner. Change you mind if you like.

2. Why is it preferable to receive a payment today rather than in the future? List all reasons why.

Share your answer with your partner.

3. Using the chart below, calculate the value of each payment:

A) $10,000 in year 10

B) $1000 in years 1, 2, 3, 4, 5, 6, 7, 8 and 9

You will need to choose a discount rate. Explain your choice.

Which payment is best?  How does this answer compare with your answer in question 1 above?

	
	1% 
	2%
	3%
	4%
	5%
	6%
	7%
	8%
	9%
	10%

	Year 1 
	$990 
	980
	971
	962
	952
	943
	935
	926
	917
	909

	2
	980
	961
	943
	925
	907
	890
	873
	857
	842
	826

	3
	971
	942
	915
	889
	864
	840
	816
	794
	772
	751

	4
	961
	924
	889
	855
	823
	792
	763
	735
	708
	683

	5
	952
	906
	863
	822
	784
	747
	713
	681
	650
	621

	6
	942
	888
	838
	790
	746
	705
	666
	630
	596
	564

	7
	933
	871
	813
	760
	711
	665
	623
	583
	547
	513

	8
	924
	854
	780
	731
	677
	627
	582
	540
	502
	466

	9
	914
	837
	764
	703
	645
	592
	544
	500
	460
	424

	10
	905
	820
	744
	676
	614
	558
	508
	463
	422
	346


Value of $1000
4. Share your answers with others in the class. Does everyone agree? Does your answer depend on the discount rate? Why?
